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1 TESIEN 100 5460 1 360 400
1 m={h 2 100 5460 1 400 360
1 = 100 5455 3 400 400
1 T ELH» A 100 5355 4 400 400
1 SKHAR 100 5350 5 360 400
1 Va2bEY— 100 5300 b 360 380
1 A = 100 5070 7 400 400
1 SR 100 4755 10 400 320
1 Ry F 100 4515 14 320 240
1 marea 100 44770 15 400 320
1 77 b R 100 4356 17 360
1 I 100 4320 18 400 360
1 VAN 100 4305 19 360 60
1 55w ) 100 4230 22 400
1 VAT 100 4140 25 400
1 X v 100 4095 27 400 160
1 K@ 100 4050 30 400 160
1 = 100 4015 31 400
1 S 100 4005 32 360 340
1 bread 100 3975 33 360
1 MY T 100 3970 34 400 160
1 L E v 100 3960 35 360 400
1 L g 100 3885 38 400
1 b 2 100 3775 41 400 380
1 MmNy L 100 3700 45
1 e 100 3695 47 400 220
1 wHmE L 100 3530 56 360 400
1 MR Y < 100 [ ] 3460 60 360
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NEAY 100 3435 62 360 80
77 NE 100 3365 68 400 280
T E/ 100 3310 71 360
NERA 100 3265 74 400 80
R v R 100 3175 77 400
77 A 100 3110 79
B 100 3015 82 360 20
tm3 11 100 2985 87 400
B AL A 100 2980 88 360 80
T LA 100 2915 94 360
N 100 2260 114
S P 90 4915 8 400 400
bLoLWwy 90 4575 12 400 40
LEL & 90 3765 42 400 400
Yo v B 90 3705 44 400
H i 90 3640 50 400
2= 90 3415 63 320
=P ) %0 3345 70 320 160
sugift Q0 2990 85 400
2 { Xwn 90 2630 102 80
V== 90 2165 118 360
) 90 1495 125
AN 85 4780 9 400 400
~ 85 4640 11 320 280
2% 85 4520 13 360 400
EoN LA 85 4420 16 360 340
£k E 85 4240 21 360 100
H—1) — 85 4160 24 400 320
5T 85 4110 26 400 140
‘A5G L 85 4075 28 360
KWM8 9 85 4060 29 320 300
IN— T 85 3890 37 360 320
N A A 85 3700 45 360 260
7= 85 3690 48 400 60
>3 — b 85 3635 51 3640 360
Yuta 85 3605 53 400
VA I— 85 3570 55 360
SHUN 85 3525 57 360
5o L — 85 3470 59 320 40
nnp 85 3450 61 360 180
ey 85 3385 66 360
K 77~ 85 3380 67 400 380
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51 Pur in 85 2480 108 400
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Q1 PN 70 2490 107 400 20
95 Vox F A 65 3285 72 400
95 WAL 65 3270 73 400 100
95 Ak 65 3065 80
95 NNy T 65 2770 98 360
S AR 65 2245 16 400
95 HR ERK 65 2165 118
101 Q9S 60 3720 43 400 340
101 |=I)ILF—X 60 3575 b4 400 220
101 |5V Ms 60 3410 64 360
101 |72 1F 60 2850 95 400 160
101 = oMn 60 2190 117 400 40
106 | R7 T 55 4210 23 360
106 |mmr g x 55 3875 39 360 140
106 [\ 55 3395 65 400 160
106 |29 % ¥ 55 3225 75 400 180
106 |BIT% % 55 3060 81 400 60
106 |77 7/ 55 2665 100 360
112 |K. S 50 2780 Q7 360
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